
Overheads example 

The following are the figures relating to Cost 
Centre 10:

Using the above data the following absorption 
rates could be calculated using the above 

formula
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• S. will Ltd. has two production departments 
A, B and one service department S. The 
actual costs for a period are as follows:





Working notes

• 4000@60=240000

• 3000@30=90000

• 2000@10=20000

• Ratio= 24:9:2  power= 1750

• There fore 1750x24/35=1200

• 1750x9/35=450

• 1750x2/35=100



• Lighting expense=1600

• Number of light points = 18 :12: 10

• = 9: 6: 5

• Therefore 1600x9/20=720

• 1600x6/20=480

• 1600x5/20=400





• 3. The expenses of these departments as per 
primary distribution summary were as 
follows:

•
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• The following information is also available in 
respect of production departments:



• Apportion the cost of various service 
departments to the production departments.


